i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

Qe @,@ﬂg
iailala gl L2 L]

Sl ) &l dall)

i 423 aall

dno N dy i)

Ve eil) Reactions Chemical Jo¥l uall asle

dolad) plee) clibia) aliu] g ayila S

Sledl i) alif >

s gl | (389 dage dx>

Ll gl ali] Y

Sl sl alel] >



https://almanahj.com/ae/id=20322
https://almanahj.com/ae/16science1
https://almanahj.com/ae/16science
https://almanahj.com/ae/16
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade16uae
https://www.facebook.com/grade16uae
http://bit.ly/2TtwFRA
https://t.me/almanahj_bot
https://bit.ly/2PuN5cF
https://bit.ly/399CQlh
https://bit.ly/3dl3Hw7
https://bit.ly/3lM7K8o
https://almanahj.com/ae/id=22565
https://almanahj.com/ae/id=22565
https://almanahj.com/ae/id=20322
https://almanahj.com/ae/id=20004
https://almanahj.com/ae/id=20003
https://almanahj.com/ae/id=20002
http://www.tcpdf.org

Q Response Review

.y
Student ID/Username: Full Name: Group/CRN:
s305211 wojlall (e dlyo pudlpl Me Gha... $PC-1085AD-G9-ADV-1 (904...
College: Course Name:
Grade9 G9ADV.BIO - Biology G9ADV
Exam: Activity Type: Time Spent:
Grade 9 - Advanced - Biology...  Final 57 mins, 18 secs

Delivery Method:

Digital

Area/Branch Name:

AL SHIYAM 1085AD il

Total Marks:

96/120



Q1:.

Mark(s): 0/5

Which of the following functions can be attributed to lipids?

Learning Outcomes Covered

b

C

BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O O 0 O O O

Control cell growth

Energy storage

Genetic information storage



Q.2:.

T

Mark(s): 5/5

Which of the answer represent the M letter in the picture below?

|

Learning Outcomes Covered R - - - -

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.01.078
BIO.3.1.01.082
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0 0O O 0O 0O 0 0 O O O

Phloem

Xylem




| Pericycle




Q.3: ***** BONUS ***** Mark(s): 4/4

Which statement is true regarding this energy diagram?

Energy Diagram
A
X4+Y

E Reactants
(7]
u’:..l Energy

released

-------------------------- Product

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O 0O O 0O 0O 0 O ©°

It shows an endothermic reaction

t shows an exothermic reaction.

SECEEECET EEE

r

Reactant and product energy are equal




d

Q4.

Product energy is higher than reactant energy

Mark(s): 5/5

Which from this function it is not related to parenchyma cells?

Learning Outcomes Covered

b

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
B10.3.1.01.073
BIO.3.1.01.075
BIO.3.1.01.082
BIO.3.1.02.018
BIO.3.1.02.020
B10.3.1.02.031
BIO.3.1.05.002

O 0O 0O 0 0 0O O 0O 0 0 0 o©°

| Storage

| Photosynthesis

Protection



Mark(s): 5/5

Where is the location of the Z line in the figure below?

Sarcomere

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0 0 0O 0O O 0O 0 0 O ©°




Q.6:.

Mark(s): 5/5

A beaker contains three solids:

flour, sugar, and baking soda.

Which describes the contents of the beaker?

Learning Outcomes Covered

b

C

d

BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031

0O O 0O O ©o

A suspension

| A solution

A homogeneous mixture



Mark(s): 5/5

Which is the letter representing the ribs in the skeleton picture?

Learning Outcomes Covered

o BIO.3.1.01.050
o BIO.3.1.01.054
o BIO.3.1.01.055
o BIO.3.1.01.056
o BI0O.3.1.01.060
o BIO.3.1.01.073
o BIO.3.1.01.075
o BIO.3.1.02.018
o Bl0O.3.1.02.020
o BIO.3.1.02.031
o BI0O.3.1.05.002
a.
A
P e e
1
b.
iC
1
1
1
e o o o RN R R N SN RN RN RN N N SN BN RN RN N N SN RN RN N N NN NN RN RN N NN NN NN NN N N SN NN RN RN N SN NN RN RN N N SN NN RN RN N SN NN NN RN N SN SN NN RN RN N SN BN RN RN N SN BN BN BN RN SN AN BN A
C.
G
d.



Q.8:. Mark(s): 5/5

What important function does the bottom skin layer (sweat gland) in the image below?

Hair shaft

Sweal pore
Sebaceous - Epidermis
gland
- Dermis
- Subcutaneous
layer
Sweat gland

Learning Outcomes Covered - - -

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O 0O O 0O 0O 0 O ©°

Opens pores

Absorbs sunlight

Waterproof’s skin




Q.9:.

Mark(s): 5/5

A molecule necessary for cell functioning cannot diffuse through the plasma

membrane but needs a protein that can open and close to allow the molecule to

diffuse. What is this protein called?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

0O 0O 0O 0O O O O ©O

Carrier protein

Motor protein

Receptor protein



Q.10:. Mark(s): 5/5

What is the type of stem shown in the picture below?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.01.078
BIO.3.1.01.082
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0 0O O 0O 0O 0 0 O O O

| Tuber

b.
Rhizome
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Q11:.

Mark(s): 0/5

What is the type of root showing in the picture below?

Learning Outcomes Covered

a

b

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.01.078
BIO.3.1.01.082
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O 0O O 0O 0O 0 0 O O o

| Fibrous root

| Taproot



Modified root




Q12:.

Mark(s): 5/5

Which type of solution could cause an animal cell to burst Like the picture below?

.
.
Water #- Y ™

dmm— \Nater & @
L]

s L]

ar molecule

Learning Outcomes Covered

a

b

C

d

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O O 0 0 0O 0O O O O

iHypotonic

Isotonic

Hypertonic

No one of these



oo alall 130 Jaasi i
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Q.13: ***** BONUS ***** Mark(s): 0/4

What type of tropism are roots showing in the picture below?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.01.081
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

0O 0 0O 0O O 0O 0O 0 0 O O O

a

Phototropism

Positive gravitropism



Negative gravitropism




Q.14: ***** BONUS ***** Mark(s): 4/4

What type of joint are shown in the picture below?

Learning Outcomes Covered

o BIO.3.1.01.060

Hinge

Gliding




Q.15:. Mark(s): 0/5

Which of this tissue provides support and protection in human skin?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O O 0 0 0O 0 0O 0O O O ©

| Muscle

d.
Connective



Q.16: ***** BONUS ***** Mark(s): 4/4

What are saturated fats?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0O 0 0 0O 0O 0O O O ©

Lipids with double bonds between carbon atoms

Proteins with double bonds between carbon atoms

1
Cy

Lipids with single bonds between carbon atoms

Proteins with single bonds between carbon atoms




Q.17: ***** BONUS ***** Mark(s): 4/4

What type of muscles will you find in your heart?

Learning Outcomes Covered

o BIO.3.1.01.055
o BIO.3.1.01.060

Voluntary muscles

Smooth muscles

C.

iCardiac muscles

Skeletal muscles




Q.18:. Mark(s): 5/5

Which of the following produces cells that increase in length?

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.01.078
BIO.3.1.01.082
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0 0 0 0O 0O OO0 0 0 O O ©O

b.
Intercalary meristems

C

Vascular cambium

d.
Lateral meristems



Q.19:. Mark(s): 5/5

A cell’s plasma membrane pump transports sodinm and ........................

Learning Outcomes Covered

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0O 0 O 0O O O ©



Q.20:. Mark(s): 5/5

How do enzymes affect a chemical reaction, making it easier to occur?

Learning Outcomes Covered

o BIO.3.1.01.055
o BIO.3.1.01.060
o BIO.3.1.02.031

| They raise the activation energy.

b.
They make the reaction exothermic.

C



Q.21:. Mark(s): 0/5

Which statement is not true about pure water?

Learning Outcomes Covered

BIO.3.1.01.055
B10.3.1.01.060
BIO.3.1.02.020
BIO.3.1.02.031

O O O ©

a

Ttisa good solvent.

EIt 1s adhesive and cohesive due to hydrogen bonds.

It 1s composed of polar molecules.

It 1s composed of 10nic bonds.



Q.22:. Mark(s): 5/5

After studying plant tissues, animal tissues, and protozoans under the microscope,

scientists summarized their observations of cells and formulated the cell theory.

Which would not be included as part of the cell theory?

Learning Outcomes Covered

BIO.3.1.01.055
BIO.3.1.01.060
B10.3.1.01.075
BIO.3.1.02.018
BI0.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0 O O ©O

i Unicellular organisms can grow from organic molecu’ .

Cells are the building blocks of living structures.

Parent cells pass genetic material on to daughter cells

All living things are made of one or more cells.




Q.23:. Mark(s): 5/5

What kind of muscles appears in the figure?

Artaru
Learning Outcomes Covered - - -

BIO.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.056
BIO.3.1.01.060
BIO.3.1.01.073
BIO.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O 0O O 0O 0 0 O ©°

Cardiac muscles

Skeletal muscles




Voluntary muscles




Q.24:.

Mark(s): 5/5

Which structure synthesizes proteins that will be used by the cell?

MNuclear pore Chromatin

Endoplasmic
reticulum

Nucleolus

Learning Outcomes Covered

B10.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O O 0O 0O 0 O O

Chromatin

Nucleolus



Endoplasmic reticulum




Q.25:.

Mark(s): 5/5

Science students in Biology class are observing prepared slides of the cells of maple

tree leaves and mammal skin cells. Their teacher records their observations on the

board as they study the cells under the microscope’s highest magnification.

Which would be included in the teacher’s list?

Learning Outcomes Covered

a.

B10.3.1.01.050
BIO.3.1.01.054
BIO.3.1.01.055
BIO.3.1.01.060
BIO.3.1.01.073
B10.3.1.01.075
BIO.3.1.02.018
BIO.3.1.02.020
BIO.3.1.02.031
BIO.3.1.05.002

O 0O 0 0O 0O 0O 0 0 O ©°

i The leaf cells have chloroplast green organelles; animal cells do not.

The skin cells have a nucleus, but the cells of the leaves have no nucleus.
Both cells have a membrane surrounded by a cell wall.

The animal and plant cells have an oval shape and are about the same size.



